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Season Batting Average
Sowme: www haschall-meference. com/postseasan /1913 WS.shoml

For which season batting average is the residual the largest.

Estimate the value of the residual using the scatter plot. Explain what your
answer means.

How many of the data points have a positive residual? Explain your answer.

How many of the data points have a negative residual? Explain your answer.

Are there any data points that have a residual close to zero? Explain your answer.
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Index of Exposure

For which index of exposure is the residual the largest.

Estimate the value of the residual using the scatter plot. Explain what your
answer means.

How many of the data points have a positive residual? Explain your answer.

How many of the data points have a negative residual? Explain your answer.

Are there any data points that have a residual close to zero? Explain your answer.
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Index of Exposure
1. For which index of exposure is the residual the largest.
2. Estimate the value of the residual using the scatter plot. Explain what your

answer means.

3. How many of the data points have a positive residual? Explain your answer.

4. How many of the data points have a negative residual? Explain your answer.

5. Are there any data points that have a residual close to zero? Explain your answer.
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Gestation (in days)

For which length of gestation is the residual the largest.

Estimate the value of the residual using the scatter plot. Explain what your
answer means.

How many of the data points have a positive residual? Explain your answer.

How many of the data points have a negative residual? Explain your answer.

Are there any data points that have a residual close to zero? Explain your answer.
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For which year is the residual the largest.

Estimate the value of the residual using the scatter plot. Explain what your
answer means.

How many of the data points have a positive residual? Explain your answer.

How many of the data points have a negative residual? Explain your answer.

Are there any data points that have a residual close to zero? Explain your answer.
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For which average outside temperature is the residual the largest.

Estimate the value of the residual using the scatter plot. Explain what your
answer means.

How many of the data points have a positive residual? Explain your answer.

How many of the data points have a negative residual? Explain your answer.

Are there any data points that have a residual close to zero? Explain your answer.



